

۲۰

1 /

حل و جواب

$$\frac{a}{q}, a, aq, \dots \rightarrow \frac{a}{q} \times a \times aq = 4f \rightarrow a^2 = 4f \rightarrow a = 2\sqrt{f}$$

۱

$$\frac{a}{q} + a + aq = 1 \rightarrow \frac{f}{q} + f + fq = 1 \rightarrow \frac{f}{q} + fq - 1 = 0 \rightarrow fq^2 - 1q + f = 0$$

$$q = \frac{-(-1) \pm \sqrt{(-1)^2 - 4(f)(f)}}{2(f)} \rightarrow q = \frac{1 \pm 1}{2f} \rightarrow q = f$$

چون ضرایب نسبت به هم این قدر قدر است

$$(x^2) = (x^2 - 2)(x^2 + f) \rightarrow fx^2 = x^2 + 2x^2 - 1 \rightarrow 2x^2 = x^2 - 1 \rightarrow x^2 - 2x - 1 = 0$$

۲

$$(x^2 - f)(x^2 + 2) = 0$$

$$x^2 = f \rightarrow x = \sqrt{f} \rightarrow 1, f, \sqrt{f} \rightarrow q = \frac{1}{\sqrt{f}}$$

$$x^2 = 2 \rightarrow x = \sqrt{2} \rightarrow 1, -\sqrt{2}, \sqrt{2} \rightarrow \text{و...} \rightarrow \sum_{\sqrt{f}} = 1 \times \frac{1 - (\frac{1}{\sqrt{f}})^2}{1 - \frac{1}{\sqrt{f}}} = \frac{1 - \frac{1}{f}}{1 - \frac{1}{\sqrt{f}}}$$

$$1 + q + q^2 + q^3 + q^4 = \frac{1 - \frac{1}{f}}{1 - \frac{1}{\sqrt{f}}} \rightarrow \sum_{\frac{1}{\sqrt{f}}} = 1 + \frac{1}{\sqrt{f}} + \frac{1}{f} + \frac{1}{\sqrt{f}} + 1 = 2 + \frac{2}{\sqrt{f}} + \frac{1}{f}$$

۳

$$= q \left( q + 1 + \frac{1}{q} + \frac{1}{q^2} + \frac{1}{q^3} \right) = 2\sqrt{f} \times \frac{1 - \frac{1}{f}}{1 - \frac{1}{\sqrt{f}}} = 2\sqrt{f}$$

$$\text{حاصل: } A = \frac{1 + 4f}{f} = 2\sqrt{f}/a, \text{ و...: } B = 2 \times 4f \rightarrow B = \pm 1$$

۴

$$A + B = 2\sqrt{f}/a - 1 \rightarrow A + B = 2\sqrt{f}/a + 1 = \frac{2\sqrt{f} + a}{a} = \frac{2\sqrt{f} + a}{a}$$

$$a = a_1 + 10d \rightarrow d = \frac{-9a}{f} - (-2f) = \frac{1}{f} \rightarrow a_1 = -2f + 10 \times \frac{1}{f} = 1$$

۵

$$121, a, \dots \rightarrow \frac{a}{11} = 121 \times q \rightarrow \frac{a}{11} = 121 \times q^2 \rightarrow q = \frac{1}{11}$$

$$a_1, a_2, a_3, a_4, a_5 \rightarrow (a_1 + 4d)^2 = (a_1 + 2d)(a_1 + 6d) \rightarrow a_1^2 + 8a_1d + 16d^2 = a_1^2 + 8a_1d + 12a_1d + 24d^2$$

۶

$$= a_1^2 + 16a_1d + 16d^2 \rightarrow 8a_1d = -2a_1d \rightarrow 2d(10d + a_1) = 0$$

$$x d e o \rightarrow d z o$$

$$10d + a_1 = 0 \rightarrow d = \frac{-a_1}{10}$$



$$a_r, a_f, a_n$$

$$a_1 + d, a_1 + rd, a_1 + vd \rightarrow (a_1 + rd) \times (a_1 + vd) \rightarrow$$

$$a_1^r + ra_1^r + va_1^r = a_1^r + rd + va_1^r \rightarrow rd = ra_1^r \rightarrow d = ra_1^r \rightarrow ra, fa, na$$

$$q = \frac{fa}{ra} = r \quad a_{10} = a_1 q^9 = \frac{1}{r} \times r^9 = 17a$$

$$ra_r, ra_f, a_f$$

$$r(a_1 q), r(a_1 q^2), a_1 q^3 \quad ra_1 q^2 = \frac{ra_1 q + a_1 q^3}{r} \rightarrow -fa_1 q^r + ra_1 q + a_1 q^3 = 0$$

$$a_1 q (-fa + r + q^2) = 0 \rightarrow (q-1)(q-r) = 0 \quad q=1 \text{ ÖÖÖ}$$

$$a_1 q = 0$$

$$a_1 = 0 \text{ ÖÖÖ}$$

$$\boxed{q=r}$$

$$d = \frac{va}{r} \quad r = \frac{1}{r} \quad a_f = r + r \times (-\frac{1}{r}) = \frac{d}{r}$$

$$a_n = r + v \times (-\frac{1}{r}) = \frac{1}{r}$$

$$a_{1r} = r + vr \times (-\frac{1}{r}) = 1$$

$$\frac{d}{r} + n, \frac{1}{r} + n, -1 + n \rightarrow (\frac{1}{r} + n)^2 = (n + \frac{d}{r})(n-1) \rightarrow$$

$$\frac{1}{14} + x^2 + \frac{1}{4} x = x^2 + \frac{1}{r} n - \frac{d}{r} \rightarrow x = \frac{-r1}{r} \rightarrow -f, -d, -\frac{rd}{r}$$

$$q = \frac{-d}{-r} = \sqrt{\frac{d}{r}}$$

$$a_1 + a_1 q^r + a_1 q^4 > vr$$

$$t_1 = a_1 = a, t_r = a_1 q^r = a q^r, t_{10} = a_1 q^9 = a q^9$$

$$\left. \begin{matrix} t_r = a q^r \\ t_r < t_{r+d} \end{matrix} \right\} a q^r < a q^{r+d} \rightarrow d = (q^r - 1)a$$

$$t_1 = a q^4 = a + 9a(q^r - 1)$$

$$= a + 9a q^r - 9a \rightarrow a q^4 - 9a q^r + 10a = 0$$

$$a(q^4 - 9q^r - 1) \rightarrow q^r = \frac{q^4 \pm \sqrt{11-14}}{r}$$

$$q=1 \rightarrow a + 10a + 4fa > vr \rightarrow a = \frac{vr}{11}, d = a(q^r - 1)$$

$$q^r = 1 \rightarrow q=1$$

$$\frac{vr}{w} \times (1-1) = 0$$

$$q^r = 1 \rightarrow q=1$$

$$a < r \rightarrow a + 10a + 4fa > vr \rightarrow a < 1 \rightarrow d = a(q^r - 1) < 1 \times (1-1) = 0$$

